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QUESTION 1

Your client asked you to design a solution with the requirements shown below. 

Have better traffic engineering for applications across an existing MPLS core. 

Support both IPv4 and IPv6 traffic 

Work with an MX Series core. 

Work with a North Star Controller 

Work with existing IGP (ISIS) 

Which feature would you recommend be implemented in this solution? 

A. zero touch provisioning 

B. segment routing 

C. CoS-based forwarding 

D. opaque area LSAs 

Correct Answer: B 

 

 

QUESTION 2

What are three components of a class-of-service scheduler? (Choose three.) 

A. transmit rate 

B. forwarding class 

C. queue priority 

D. delay buffer size 

E. policing rate 

Correct Answer: ACD 

Junos OS schedulers allow you to define the priority, bandwidth, delay buffer size, rate control status, and RED drop
profiles to be applied to a particular queue for packet transmission 

 

QUESTION 3

You are asked to design a DDoS prevention system to help mitigate denial-of-service attacks that target 
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your customers. The management group wants to know the effect remote triggered black holes may have 

on current network operations if they are implemented as a solution. 

Which three statements are correct in this scenario? (Choose three ) 

A. RTBH can automatically deled denial-of-service attacks and block traffic destined to the target. 

B. RTBH can block legitimate user traffic in the network. 

C. RTBH can detect the origin of an attack, regardless of NAT technologies. 

D. RTBH can block all traffic based on the source of an attack. 

E. RTBH can block all traffic based on the destination of an attack 

Correct Answer: ADE 

 

 

QUESTION 4

Your customer\\'s WAN edge connects to two service providers SP-A and SP-B. The customer is advertising a single
/22 subnet to both service providers through EBGP peering sessions. The customer wants to influence inbound traffic to
the advertised /22 destination prefix so that it passes through SP-A when both paths are operational. Which action
meets the customer\\'s requirement? 

A. Advertise the prefix to SP-A with a lower MED value than that sent to SP-B. 

B. Advertise the prefix to SP-B with an origin of unknown. 

C. Advertise the prefix to SP-B with a lower MED value than that sent to SP-A. 

D. Advertise the prefix to SP-A with an origin of unknown. 

Correct Answer: A 

https://www.juniper.net/documentation/en_US/junos/topics/topic-map/med-attribute.html 

 

QUESTION 5

You work for a service provider that offers L3VPN services to its customers. While designing L3VPN 

solutions for customers, you sometimes need to share routes between routing instances as part of the 

design. 

What are two reasons for sharing routes between routing-instances? (Choose two) 

A. so customers can reach the Internet 

B. to allow the service provider\\'s OoB network to be reachable by customers 
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C. so customers can reach the service provider\\'s public cloud infrastructure 

D. to support network address translation 

Correct Answer: AC 
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